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(/L/S@O(f +o Féfresm‘t Hese 5!74/%‘/70%5.

g A, tdyt ...+ An =
W

MP ho taf o

> ot
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where Ha summation enols |

ooty vk M Summatyon- possesses
N — (\L—l) WLCVW}S) o

=k + | terms.
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e oli eremce between successive Hderms

1S 69’%54@«»‘6.
@: 2,3,12, 1%, ... /

+ 5 + S + &

E—— |

Th's awr, thmehc Sequence has a
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w: Fad x So et 3Bxi2, Zx-3, andd.
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(3x+2_)+aé = Jx—3
(21+2>+ 2.0C= Z—‘#x,
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T a4 Series Cann édf 74'»1:')[6, oy /"LA.’L’\'ZL
v

* Hus sectom %

p&’ Wing e SWVL /%'/Mm/{a 74« Fadde #V:'%mx/ﬁc S&/ics

Let fanj = a,”dz)av) ) A, be a Linile cwtmehic
Sﬁwbwcc,.

Then A, + A, + a,+...*7 QAu s a4 ke gurthametic

Sewvies.

L&‘tL_ d = Common ol tference
S. = Sum of The Series

Se = a,+ta, + a, 4+...+ aa
grli Sa (0” rd) (&+Zo()+ (a+ -/)aL)
Let /( = a4 (n-1)d — the Aas+ Hrm
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SUM OF A FINITE ARITHMETIC SERIES :
The swm of Hhe First n frms of an
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[ jn - ‘2’ (Q+:€)/‘}

S 2 (2ae () ) ]

where  a = A = He I e
A= as(n)d = S dast (n%) fows



ﬁ; Fod Hwe swum of He evew Mwl?v's
7£vm ya +o 40 inclusive.

_ o
he Z = 30

A= 2 A=¢o d=2
Sm" -—g—(a+1()
530:3 <2+éo)

30 - IS(éZ)-i 30’

Find The Sun of the fHrst 25

2:
ﬁ/ Jerms of e Sesies /+ 1S +/9+ ...
a=1 d=4 n=2s

Sez & (200 (v-)d)

Ses = 2 2(1) + (25-1) (%))
Sie = 5 (22+ q¢ )

S,. = 2 Il%’)



7+ 10 + 13 + + loo
A= 7
d=3 AL = 100
Fad n /: 6l+(n—l)4(_

\S‘MV\MA}IL’M (S'{jm" /\/ov‘»'/\m)
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10
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2\
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<k2+ \) — hot Wc’M-H:) Sincl ke | is not lineon
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oo

ﬁ; Evaluate 2 (ka)

lL:\
a= 2(h)y+1 =3 =2
L 2ion) s = 201 neisonielnies
SieE s 2)

100
loo - (3 +20/)

Sieo :LO 200 i

@5’ Werte 5+9‘+/3+ .+ /37 i Summartier

chn E- dk+ b
A= a+ (n-1)d 5= 4(1)+b
/37 = 5+ /n-/)(‘f) b= | -
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Hn = [3¢ 9‘4(2>+b

no= 34 b= |

34 |
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ﬂ% 7/}4,& Sum of “the 74»’57‘ N 71@,/,,,,5 27 -
ar Humehic Series is Sy = 5.7 3.
Find . '
S' = 5(!)1-3(/) e 2
52 ® 5(2>zf3(2):[4

CL=Z 52:0,4-42

/'71= 2 +a,
A, = 12
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Frved mulbiple 7 (02 |
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/( = a4+ (n-/)o(
996 = loa+ (n-1)6
196 ~loz+ bn~6 2 S, - !_21:(4+1)
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n =150 ~ | o :%(/0_“ 9%)
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Ch. |.3 - éeameﬂ‘v.'c 52714,&«%5:

— recald “Hat  av Homete Sesuemces possess
Jerms Hat o Her 57 & (B e O(f/?";érmuij
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A sequence s
(/L %&«mg IS CMSJ‘M%.

of comsecutive

~ ‘ metvie 1 Yheee s
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L, = &
Ad, = ar
A, = a,r = ar(r) = ar”
dy = a0 = ar’(r)= ar’

¥ another yiew : +the &KFW in each Jerm
o omr less Jhan e subscript of fhe Hrw.
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-
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£'5 = ar” - [o00 (‘ 2 _  Jooo | 25
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) ) /
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=
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s
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o
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6&1,, /'Lll = @Laomw‘/“yfc Series

)4 j&oméfvf'c Series 1S Hwe sum pFf
all of e Jerms of A jwww?’v.*c

D@“'V"_“j He Sum fFormula o Fracke &camﬁ/‘c Series
Let S, = a + ar + ar®+ arde ar" be a

Je,ometh'c series with  Common ratio, .

Sh Can ée: re,—@c/oressecé éﬁ /)’JM/%/O/YHV Sa é;
Huon  adoliry He result Ho S :

-,
S () () v ()t ()
- rSnl c: —or = ar . = Ar’ “‘\..“0»"“4 -ar’
+ Sv\.? o+ ar todt s oardto. cart
I —_—
S,\ - Y‘Sn - a - ar_\f\

Note: 4, =ar" = 4
51\ <\-r> - o -—ar”




The Sum o0Ff The Hrst n oms of a
\jwmt‘hfc Series it Lot %m}a) .

jas% Jc,-ym) ,@ /rv &w”")} IS j/fvw, 6\7
\)“ . ( | )

Hl

L T
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L<SV\ = A - ar«h | /]07[(,.' r?( /
| l-r
R
i,\Sr\ = QA - r/_{_
\ ) ="

/.. /1:,',\0( +he Sum ot Yhe jeome//v/c Se-i¢s
ﬁ// J+ 6 + I8 +S4+ ... 145§

o= 2 l’\:‘é‘:j
A =459
S, = a-rk  2-(3)(14s8)
| —r i /| -3



ﬁ; Emﬁ(, ‘W S% 07[ W 74\/5‘74 @Jj[ﬂt 7/_(,,,,,,\;
A quomitric series 356wz

S r- & =2
n==9¢
Sn"' ft_(/—r‘")
| - r
5?:3(}—2?)'Z£J
| — 2-

;%5: Find he sSwm of W(jeﬁm,&fw‘c,
lo

Series
S 3(a)e

K- |
Lind a: k=1 — 3(—2)"’ . 22w
Livd A k=10 — 3 (-2)°" = 3(-2) = ~153¢ Ny
r= -z — check w/ K:=2

A-fz:_é

Sn: a,——f‘-/( — Sto = 3—('2>(—I§3é,>
| —r o

[Su = - lo23)




/\/owlc.’ In S(jm (anma'/ﬁ'p—.,\) na-/—a%‘mj
om.  ARITHMETIC Sevr.eS A.AS s Variable

n He base . A GEOMETR IC seres has
Hs  vowrable In M Leponent .

—

: ARITHME 2
@ e ?(Zk—3) A= 2
) —_
GEoMETR IC - =
= 2-3~ =3
k=i
NE I T HER s
= (2+3%)
e =
U/‘\ﬂ7 k=) — 5 L=3 — 2%
k=2 — 1 k=4 — &3
ho Frend

/ Wr;k “H’Lt jwmc'/v"c Sw.'cg) é + ¥ +W "
/éZ 4 ‘-f?é : ws l\V\\j Stﬁma KO‘?LO\..‘?LTM W'\‘ﬂp
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| ¥

FlvE Hyms : n= 5 ZZB:P

#1-19 (owmd 14,20 )

° ¥\ ouswer : 4= -9

° 12 ancwer: we'ng S¢ 2 0= 420137.29 |



%‘/-5— = /n‘ﬁ'nfk’, C‘E‘&aMﬁ:L S)&r/cg

| !

Tt emse—

i / A\t
) 2 v, F, e, 3—[/ Ny (1)

e -
ome umple of aw INFINITE
me&'fvfc 5671/1/%(—&.

n € NATMMLE
Kusbers

Ao\t
- as n Jaf's Ao er (?-) je/ﬁ( Closer
owd  closer +v O

g nes | ()77 (D)7 570

o — ()77 () 295 % 107

e . /{f'm (é_) = 0 -2 a4s n afpraaahzg
=00 wi infincdely Lavge
| huwwnber ( ‘;/)n d.f)f?rma&x.éé
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n-—| N
2, 4,9, 16,32,...,2 hegﬁmﬁg

- Hue $¢7W Aoes NoT cmvoyc 7o
Sevne real number
- & 567W ‘ﬂmf Aoes pot Convérge.

is sad +v be a DIVEREENT
jwm.e;hr:c Sc7w,(.,¢.

ﬁmvwﬁud' je,mfvﬁc Sequenies possess an
- Vaduwe ~— betweesme =1 and | (_/<,~</)

or /r/(/_

e

Diijw jeome:l'vic S<7W.S possess  au

: Less | v g
r - vadwe Ao M{je?u% L o gronke than feypal 1o

(}“s—/o—r F>//_).

“The Sum of am [nbaibke Geometc ScZW

(< ﬁdvm by 7

e i

\Soo:—l—?:’r/{) HES

(neren)






(Y ys
2 4 a
5-7“ - TE SQO - | =
30"-————30 (2——) @
r=— 3‘ Soo - 5 - 5_’ - i
a== /'('%) (—i— 25

SUMMAT IonN (S/C-;'Mﬂr) Fom

A infinile jwm&'f\ﬁt Sevies with Hrst Ferm
& omd Common rabo r (/f/</) 21

prven fj § ;/f E” CU”;-'J




-v‘wm%) a /)u«dweumf sw"ys ‘fﬁ/oyk

@é [n
2 an are of 25 em. Un tach successive

|2+

Swiry Prictiore fessens +he ,&y%a of
WPMMM- Swi:’j bf S . Whew The
)Pmduftuw entnal .5'-/:;,as, what Soted
/Z&Cj% will i+ have 54«/@(«7’7
¥ nole: (00% =5 = 95 %
Lok swccessive sm'v s 9P the %ﬂ»
of fhe previons sw.‘.U,

r= 0.95
_a 25
Sw . | —r - 1_0.75- =\ 500 m:}

A ball is deopped frem (2 At and
rebounds ‘%’ He oistance £ irin whaiete 1't

A= B « 2 = |é
| (wp)  (down)
1 @ T
SOO = v + IZ = |v(%) + |2_
4
| = 4% + 12




0‘ ZL'- - 0»2 + D. 0:
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U"’L g 9 T ® i';;'—ﬂrg: — 3
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= 2 1!
He s
=2 3
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- (fm Il_
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